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() $125 is fixed.
$1900 is variable.
Examples will vary.
() M = 021247 — 142412 + 6327 + 44.608
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(b) 60.700.000: Yes, this seems reasonable,

Answers will vary.
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The price increases as the demand increases.
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41 Consumer surplus = 1600
Producer surplus = 400

43, Consuwmer surplus = 1666.67
bisducer surplus = 1250

45, Consumer surplus = 50,000

Preducer surplus = 25,497

47 A 1 opical demand tunction is decreasing, whereas a typical

supply function is increasing.
9. R 5312 billion
SLOSZR7 64 million: Explanations will vary.
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$337.33 million

Quintile | Lowest | 2nd | 3rd 4th Highest

Percent | 2.92 7.09 | 1458 2674 | 44.89

SECTION 5.6 (page 369)

Prerequisite Review

LY 23 g 48 sy 6
7.5 83 9.0 105
I. Midpoint Rule: 2 3. Midpoint Rule: 0.6730

3.

Exact area: 2 Exact area: % = ().6667
Midpoint Rule: 4.6250 7. Midpoint Rule: 17.2500

14 = 32 T
Exact area: 7 = 4.6 Exactarea: 5§ = 17.3

v
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9. Midpoint Rule: 0.0839 11. Midpoint Rule: 0.0859

Exact area: '|1~ = 0.083 Exact area: ﬁ = 0.083
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13. Area = 34.60067. 15. Area = 4.16.

n =3l n=3
17. Midpoint Rule: 1.5 19. Midpoint Rule: 25

21

23.

Exact area: 1.5 Exact area: Lf’ =253
Exact: 4
Trapezoidal Rule: 4.0625

Midpoint Rule: 3.9688

Midpoint Rule is better in this example.
1.1167 25. 1.55
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A964 Answers fo Selected Exercises
2. n | Midpoint Rule | Trapezoidal Rule

4 15.3965 15.6055

r 8 15.4480 15.5010

12 15.4578 15.4814

16 15.4613 15.4745

20 15.4628 15.4713
29. 4.8103 31. 916.25 feet

33. Midpoint Rule: 7 = 3.146801
Trapezoidal Rule: 7 = 3.131176
Graphing utility: 7 =~ 3.141593

SECTION 5.7 (page 376)
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33. (a) 1,256,637 cubic feet  (b) 2513 fish
35. 58.434

REVIEW EXERCISES FOR CHAPTER 5
(page 382)

i0 32+ C 5 AHC
7308 43+ € 9 - 2Ux+ C
W flg=3e+r-2 13 fl)=ft -8+ ¥
15. (a) 2.5 seconds  (b) 100 feet
(¢) 1.25 seconds  (d) 75 feet
17. v+ 532 + 56 + € or 35(1 + 59 + C,
19. 25 —1+C 2L 3 —x'+C
23, Mt -2+ C
25, (a) 30.5 board-feet ~ {b) 125.2 board-feet

1. 16x+ C

19

27—+ C 293¢0 HHC
3.~ - @+ C 0 B IPE+ NHC
5. A=4 3 A=5 39 A=2h2

4L 16 43.0 452 47§  49.3899
51. 0 53. Increases $700.25

55. Average value: % x= 3—49

57. Average value: %(—-1 + &%) = 6.362, x = 3.150
59, $520.54; Explanations will vary.

61. (1) B = —0.0243¢> + 0.564t — 1.58

(b) The price of beef per pound does not surpass $2.00,
The highest price is $1.69 during 2001, and after that
the prices are decreasing.
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79, $5511 million less
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